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MATHEMATICS

Ifa, b, care in AP and
a+b b+c

> ; T =Y then the value of

. Four coins are tossed. The chance of

getting none of the face as head is

—l
ml"‘

A)

B)

C)

D)

bl D= 0|

If (n? - 1) is divisible by 8 then ‘n’ is
A) a natural number

B) an integer

C) an even integer

D) an odd integer

A cube of side 4 cm cut into small
cubes of each side 1 cm. The ratio of
the surface area of all smaller cubes to
that of large one is

A)1:2
B) 1:4
C) 4:1
Dy.2eq -
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1. 3 a, b, c AP # 8! aik
a+ +
R I AL L
Y R
A) 2a
B) 2b
C) 2(a +b)

D) 2(b + c)

2. SR fteni =i 3o 9 R off R

7 3T Y HIET @
A)
B)
C)

D)

Pl |- @] E;I"'

3. FRBH (N2—-1)Ar=a 2 dl ‘n' 2

A) STehicen A

B) qurls

C) ot & (& qorier)
D) frwm ot

4. T 4 cm Y1 < 5 it T&H 1 om Yo

& O 1 e S € | vt S uet
o % W8 %A ¥ AU B
A)1:2
B) 1:4
C) 4:1
Dy 2:1
1 PECE
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5. A 20 m deep well with diameter 7 m 5. T 7 m T 3 20 m TR T R G

is dug and the earth from digging is fimitohmgEE AR I
spread evenly to form a platform of 29 m x 14 m 1 T F=—1 T 8, 39 09
22 m x 14 m. The height of the HIaE
platform so formed is
A) 25m
A) 25m
B) 3.5m B)L3.5h
C)5m C)5m
D) 7m D) 7m
6. The median of the observations 46, 64, 6. 3R 92 99 ¥ 3 41 A 43 A wea fa
87, 41, 58, 77, 35, 90, 55, 92, 33 after T S A SaE 46, 64, 87, 41,58, 77,
replacing 92 by 99 and 41 by 43 is 35, 90, 55, 92, 33 &t Mt
A) 55 A) 55
B) 58 B) 58
C) 64 C) 64
D) 43 D) 43
7. 1If a line 3x — ky = 5 passes through 7. 3R (3, 2) B B TEH @1 3x —ky = 5
(3, 2), then the value of k' is SRR o
A) 4 B) 3 A) 4 B) 3
C) 2 D) 1 C): 2 D) 1
8. The rationalizing factor of abdg is 8. ahJ% <1 aiet gtrﬁtﬂva%
A) Qj‘g a
b | fd
A) b
Bl /2
) 2 o i
b
n+1
C) ‘:_nﬁ €y Ha
bn+1
an—1 n-1
D) n e D) .E_H_T

Page No. 4
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9. Match the following :

10.

13,

Solids Volume

1. Cone ans xr’
3

2. Cylinder b. mr’h

3. Sphere C: _2_,“3
3

4. Hemisphere d. %nr*h

e. %m’zl
A)1-d,2-b,3-a,4-¢
B) 1-d,2-b,3-3,4-c
C)1-e,2-b,3-a,4-c
D)1-e,2-d,3-3a,4-b

If m and n are the roots of the quadratic
equation X2+ px+8=0withm-n=2
then the value of ‘p’ is

A) +8

B) 7

C)z6

D) £5

The sum of the numerator and the

denominator of a fraction is equal
to 7. Four times the numerator is 8 less
than 5 times the denominator. Then the

fraction is
A)
B)

C)

Bl N D21 N

D)

9.

10.

11.

sirea fafla |
PR AT
1. Iiﬂ; ('ﬁ?) d. g_nra
2. 97 (i) b. nr’h
3. e c. gma
4. g d. g—urzh
e. lnr2£

A)1-d,2-b,3-a,4-¢
B) 1-d,2-b,3-a,4-¢
C)1-e,2-b,3-a,4~-c¢
D) 1-e,2-d,3-a,4-b

3R m 3R n fEums adftem

X¥+pX+8=0F AR AN M—n=2

3 p H B
A) +8
B) +7
C)+6
D) 5

U 1371 o 797 a1 & &1 91T 7 & | 30
FATNRFSTNA8AFHIR, Al

P2

A)
B)

C)

Blw NGO o= o

D)

Page No. 5
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12.

13.

14,

In the figure, APQR il APST and
perimeter of APQR : perimeter of
APST = 3: 4. Then the area of APST :

area of APQR =
P

S
A) 16:9
B) 9:16
C)3:4
D) 4:3

Every person in a room shake hands
with every other person. The total
number of handshakes is 45. The
number of persons in the room is

A) 5
B) 10
C) 15
D) 20

If x(x —2) = 1, then the value of x* + lz

is X
A) 0
B) 2
C) 4
D) 6

Page No. 6

12. 9 R 58 anpla 4 3R
APQR 11l APST 3t APQR &I
ofift : APST R aftftr =3:4, @ APST
F1 AI% : APQR &1 HIFA &

R T
Q
R
S
A) 16:9
B) 9:16
C) 3:4
D)4:3

13. T FR 1 T AT ga Sl & 81y
Tiremen @ | w1y e ol 5o T 45 R
A 3 F & A e
A) 5
B) 10
C) 15
D) 20

14, I x(x —2) =18 A x2+—12—iﬁi
e § ¥
A) O
B) 2
C) 4
D) 6

1 PECE
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19,

16.

t7.

18.

1

The value of tan 7° tan 23° tan 39° 15. tan 7° tan 23° tan 39° tan 60° tan 51°
tan 60° tan 51° tan 67° tan 83° is tan 67° tan 83° %1 e &
A) 0 B) 1 A) 0 B) 1
1 1
C) /3 D) Ta C) V3 D) B
If one root of the equation 16. 3R X2 + ax + b = 0w 1 v T
x2+ax+b=0is%timestheother. @iﬂa%ﬁm%?ﬁaaﬁtb%
Then the correct relation between ot &1 ot geg &
aandbis
2 —
A) 3a2= 16b PAeh
B) 16a%= 3b Pipige =
C) 3a = 16b? C) 3a = 16b?
D) 16a = 3b? D) 16a = 3b?
The area of a triangle formed by the 17. (a, b +c), (b, c + a), (¢, a + b) fargait
points (a, b +c), (b, c + a), (c, a +b) is BRT T T fehior &1 Si9%a
A) a+b+c A) a+b+c
2 2
Bja0 abe
S Bl
C) 1 )1
D) 0 D) O
lfy=m+m?+md+... «when|m|<1, 1. ARy =m+m+ m? + .... oo 5[
then the value of ‘m’ is Im| < 12a ‘m' #gea @
Ay Y Ay=y
) 1-y 1-y
=yt gy — -
&) 1+y ) 1+y
c) 1=y  Byiiey
y y
1+y
py’ D)5y
1 PECE
4 A A
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19. Inthe figure, a semicircle with centre O
is drawn on AB = 8 cm. If |ABP =60°
then the area of AABP is

A

o)

B
V3

—Cm
A) 3

B) 8cm
C) 8V3 cm

D) 43 cm

20. Thetop of a partially broken tree touches
the ground at a point 10 m from the foot
of it and makes an angle of elevation of
30° from the ground. The height of the
tree is

10
A) E m
B) 1043 m

C)ﬁm
10
D) J3 m

21. If the quadratic equation
4x2 - (p—2) x + 1 = 0 has equal roots
then the value of ‘p’ are

A) 2or6
B) 2or—-6
C)-2o0or—6
D) -2o0r6

A Page No. 8

19. amefa A U Tdgn F Hafg O Hl
AB = 8 cm Wt fafia frm man @ | 3R
|ABP = 60° ® Tt AABP &1 &% 8

A

O

V3

NEg ="

B) 8cm
C) 8J3 cm
D) 4/3 cm

20. 3fid W 37ifarer 9 | 72T g US AW
SR A 10 m ) F W i a1 & 3R
gt & 30° 1 I HIV 1T & 91 U

& T §
10

A) ﬁ m

B) 1043 m

C) _‘/._5 m
10

D) J3m

21. R fam a4 - (p-2)x+1=0
¥ g GAA B, Al 'p’ T e B

A) 2416
B) 2a1-6
C) —231—6
D) ~2u6

1 PECE




22. The quadrilateral obtained by joining 22. (1,1), (-1, 5), (7, 9) 3R (9, 5) fergaii
:ga;:;;:;?ts (1,1),(=1,5),(7,9) and ﬂ-ﬁﬁhﬁﬂwmﬁ,?ﬁ%
¥ A) a_'f
A) Square
B) Rhombus B) ¥y
C) Rectangle C) s
D) Paralielogram D) HHHIR Sy
23. The linear equation coincide with the 23. 1&g gt s 2x + 3y = 12 F 9 i
line 2x + 3y = 12 is |, 98 §
A) 2x+3y =15 A) 2x+ 3y =15
B) 7x + 14y =13 B) 7x+ 14y =13
C) 8x + 12y = 48 | C) 8x + 12y = 48
D) 8+ 10y =18 D) 8x+ 10y =18
=4 o -4 :
24, Iftane = ?then the value of sin 8 is 24. 3R tan B = 3 2, d sin Bﬂﬂ'ﬁlﬂ%
4
) A) =
A) 15 154
4 B) £=
+ — 5
B) 5
-4 4
| 4 i =
C) 5 butnot = C) 5 8w 5 e
4 -4 4 -4
D) 5b\u’tnclrt 5 D) g%'ﬂ??ﬁ
25. If sin (3A - B) = 1 and 25. IR sin (3A-B) =1 3k
cos (2A - B) = ¥3 then the value of cos (2A - B) = V3 2, @ sin A 3k
2 2
sin A and cos B are i Bm’fﬂ%
1
A) V3,0 B) 1,0 A) 33,0 B) 5.0
2 £ =
1 1
C) ¥3, 1 D)ot 0) 33, 1 D) 3.1
2 2




26.

27.

28.

An arc subtends an angle 60° at the
centre of a circle of radius 6 cm then
length of minor and major arcs are

A)2rand 10 =
B) 10rand2=n
C)8rnand4r
D)4nandbn

ifp+gq=6andpq=8thenp®+q°=
A) 216
B) 144
C) 72
D) 36

In the figure, if AB || CD, CD || EF and

X:y=3:2thenz=

RERIW,

i e

. f
/

A) 36°
B) 72°
C) 144°
D) 108°

> D

> F

Page No. 10

26. T 6 cm Frea & 9u % &5 9 T 91 60°
0T I a1 & A o7 919 3R Feg =
EARSCIER
A) 2n3R10=n
B) 10naR2x
C)8nat4n

D) 4n3M6n

27. FMp+q=63Mpg=8%,Wp*+¢’=
A) 216
B) 144
C): 72
D) 36

28. 39 MHAH 3R AB || CD, CD || EF 3R
x:y=3:2%,dz=

A< / .5
r/Jx
Z

C«< / > D
E< / y > F
A) 36°
B) 72°
C) 144°
D) 108°
1 PECE




29.

In two concentric circles of radii 15 cm
and 9 cm, the length of a biggest chord
of the larger circle which is a tangent to
the smaller circle is

A) 24cm

30.

31.

B) 20 cm
C) 12cm
D) 10cm

In the figure, A ABC and A CDE are
right angled triangles. If AC = 24 cm,

CE =7 ¢cm and |ACB =|CED then
AE is

C
DH E

, [

A B
A) 30 cm
B) 25 cm
C) 22cm
D) 15¢cm

Ol ORGIE

simplified we get

125 27,
A) o7 B) 125
) 1 D) 0

Page No. 11

29. 3 Wehfsa g it Bt 15 cm 3t 9 cm
2 A 72 9 ) geR 7 S < s o
g9 it voef 3 R, 3 werd &

A) 24 cm
B) 20 cm
C) 12cm
D) 10 cm

30. 3fd § A ABC 3R A CDE mmshm

P ? | 3TRAC =24 cm, CE=7cm
3kt |ACB =|CED %, AE 2

c
pH E
c
A B
A) 30 cm
B) 25cm
C) 22 cm
D) 15cm
EREORE)
31. 176 25) "2
I gerae W e firerar &
125 2
A) 27 B) 125
C) 1 D) 0
1 PECE
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32.

33.

The reflection of the point (-3, =2) in
Y axis is

A) (3,-2)
B) (-3, 2)
C) (3,2)
D) (0, -2)

A rational number between §.and %

34,

35.

A 52
77

g) 31
77

05} £
11

D) %

If a = 2 and b = 3, then the value of
(a® +b*)" Is

A) 17

B) 72

1
C):I".;

1
D) 75
If f(x) = x2 — 5x + 7, then f(2) — f(-1) =
A) -34
B) 34
C) 12
D) -12

Page No. 12

32,

33.

34,

35.

(-3, ~2) fiig = Y aver & wrae fiveren @
A) (3,-2)
B) (-3,2)
C) (3,2)
D) (0, -2)

gaﬂz%awnaﬁmam%

A) 99
77

g) 31
77
c) 28
11

7
D)E

ARa=23b=38%a (a° +b*)™
I &
A) 17

B) 72
!
17
31
72

C)

D)

IR f(X) = X2 — 5x + 7 A 1(2) — f(~1) =
A) -34

B) 34

C) 12

D) —12

1 PECE




36.

37.

38.

The simplest form of

(o) ()5 -3)s
A) 1

.
B) KH—;F

1
C) XH+F

1
D) xlﬂ _?B_

The mean of 15 observations is 23. If
each observation is multiplied by 2, then
new mean is

A) 23
B) 46
C) 25
D) 36

There are 13 girls and 15 boys in a line.
If one student is chosen at random, then
the probability that he is not a boy is

o,
15
13
28
il
18

A)
&
C)

p) L
13

Page No. 13

= (*o)(es)(e2)o)

37.

38.

T T T8
A) 1

1
B) XB*"x—B

1
C) x® +;—E"

1
D) x1E _;ﬁ

15 37aciie=1 1 3fad 23 1 3R y®
et st 2 8 T e ST A T sivew
Ul

A) 23

B) 46

C) 25

D) 36

T Ui 13 wisfrar ot 15 e
R 374 @ fwelt o BT g e
3G TSH 7 8 N GurE @

1
A)E

) 13
28

1

C)ﬁ

D), =
13

1 PECE



39.

40.

41,

42,

Which one of the following are not the
sides of a triangle ?

A) 2cm, 3 cm, 5 cm
B) 5cm,4cm, 8cm
C) 8cm,3cm, 9cm
D) 8cm,4cm, 11 cm

1283,6, 10,55, are triangular numbers.
The smallest triangular number that
exactly divisible by 9 is

A) 18
B) 27
C) 36
D) 45

The sum of two numbers is 161. If one
of the numbers is 30% more than the
other then the numbers are

A) 71 and 90
B) 70 and 91
C) 54 and 107
D) 60 and 101

The common factor of (p? + 9p + 14)
and (p*+ 13p + 42) is

A)p+2
B) p+6
C)p+3
D)p+7

Page No. 14

39.

40.

41,

42,

<7l & e e P o T @ 7

A) 2cm,3cm,5cm
B) 5cm,4cm, 8cm
C) 8cm,3cm, 9cm

D) 9cm,4cm, 11 cm

1,3, 8, 10,
B el e it 9 8 PUla: fAvsa 2
LR

A) 18

B) 27

C) 36

D) 45

2 gl A 161 31 IR A T@RA
¥ T gE & 30% 1o @ A 7% wEnd R
A) 71 3R 90

B) 70 3R 91

C) 54 3K 107

D) 60 3 101

(p? + 9p + 14) 3R (p? + 13p + 42) =
U OGS §
A p+2
B) p+6
C)p+3
D)p+7




43,

44,

46.

Pramod and Praveen are the sons of
Prajwal. The present age of Prajwal is
4 times the age of Pramod and 6 times
the age of Praveen. If the sum of their
ages is equal to 51 years then the
present ages of sons are

A) 9 years and 6 years
B) 8 years and 9 years
C) 9 years and 4 years
D) 5 years and 9 years

In a circle inscribed in AMNO having
MN =12 em, MO = 14 cm and

NO = 18 em touching sides at P, Q
and R, then MP + NQ + RO is

A) 18 cm
B) 20 cm
C) 22 cm
D) 44 cm

The angle between the hands of a clock
when the time is 4 O’ clock is

A) 60°
B) 90°
C) 150°
D) 120°

If sinB + cosecH = 2 then
Sin?0 + cosec?h =

43.

44,

45.

46.

wAE 3 wefior S F A2 ¥ | wow
! FAA 1Y JH1E i A & 4 T
3R weftor Y a1y @ 6 T R | AR Y
Y = A 51 99 F T R, ) 32
U g &

A) 9 a1 3R 6 I

B) 8 @t ok 9 wre

C) 9 uret 3R 4 w1t

D) 5 are 3k 9 w1=

AMNO ¥ T 3 it ifdra fran man 2,

Rred MN = 12 cm, MO = 14 cm afk
NO=18cm®, Ny | P, Q, R
W TR, T MP + NQ+ RO 2

A) 18 cm
B) 20 cm
C) 22cm
D) 44 cm

4 S5 WS & Fiel F AT w w0
BT

A) 60°

B) 90°

C) 150°

D) 120°

37X sind + cosec = 2 &, A sin%0 +
cosec?f =

A) 4 A) 4
B) 3 B) 3
C) 2 C) 2
D) 1 D) 1

Page No. 15
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47.

48.

49,

50.

Two vertices of a triangle are (1, 3) and
(4, — 5). If its centroid is (7, 2) then the
third vertex is

A) (16, 8)
B) (8, 12)
C) (12, 8)
D) (8, 16)

Which one of the following is always
true with respect to parallel lines ?

A) sum of their slopes is zero

B) difference of their slopes is zero
C) product of their slopes is zero
D) quotient of their slopes is — 1

2 sin 60° cos 30° cosec 45° s
tan 45° cos 60° sin 45°

simplified we get
A) 6

B) 32

When

C)_}E

The sum of first 20 odd natural
numbers is

A) 210
B) 250
C) 200
D) 400

Page No. 16

47.

48.

49.

50.

frEF A (1, 3) iR (4,-5) T 1MW
U F5H (7, 2) 8, @ fiww wid e

A) (16, 8)
B) (8, 12)
C) (12, 8)
D) (8, 16)

O TR & Gae 1 30 O S are
g adl @ 7

A) I gAMI ol Het AT I Bl &
B) I ! o1 WY YA &Il

C) 3% BeAHI o UHSE YA Bl @
D) 3% ol it wifed — 1 Bl @

2 sin 60° cos 30° cosec 45°
tan 45° cos 60° sin 45°

gy Wl firer ®
A) 6

B) 3.2

C) —\%

3J2
2

D)

yga 20 fowm it st &
T R

A) 210
B) 250
C) 200
D) 400

1 PECE



51.

52.

53.

54,

55.

CHEMISTRY LCICERTCFIC]

gas is liberated when 51, g gt Eelt & 91w H,S0,
zinc s treated with H,SO,. & a1y e 1 Sy R ST g |
A) O, A) O,
B) SO, B) SO,
C) H, C) H,
D) SO, D) SO,
Quick lime is 52, waRd < g1
A) CaO A) CaO
B) CaCl, B) CaCl,
C) Ca(OH), C) Ca(OH),
D) Ca(HCO,), D) Ca(HCO,),
Slaked lime reacts slowly with CO, in 53. aaT gl =1 o ofit g CO, & |y
air to form a thin layer of ! yaelt W A & forg
A) Ca(HCO,), st e |
B) Cao A) Ca(HCO,),

B) CaO

C) Ca(OH), C) Ca(OH),
D) CaCOQ, D) CaCO,
During respiration 54, Y9G % R FiRwEae o
combines with oxygen in the cells and AifaeH & |19 fieaw CO, 37 it &1
produces CO, and water. I FET R |
A) Sucrose A) G
B) Fructose B) gw
C) Glucose C)
D) Galactose D) TeTERrE
Colour of ferrous sulphate crystals 55. SERI YR SEREH H T ¥
A) Orange A) araft
B) Green B) &
C) Blue C) ften
D) Yellow D) dten

Page No. 17
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56. When lead nitrate is heated emission

97,

58.

59.

of OCCcurs.
A) N,O,

B) NO,

C) NO

D) N,

Na,SO, + BaCl, —— BaSO, +
2NaCl is an example for
reaction.

A) Displacement

B) Double displacement
C) Thermal decomposition
D) Redox

Chips manufacturers usually flush
bags of chips with gas
to prevent the chips from getting
oxidised.

A) Oxygen

B) Nitrogen

C) Hydrogen

D) Carbon dioxide

On passing excess of carbon dioxide
through lime water is
obtained.

A) CaCO,

B) Ca(OH),
C) CaH,

D) Ca(HCO,),

) Page No. 18

56.

57.

58.

59.

el SIS TS ) TTHIET STl & o
1 Iege I ST & |

A) N,O,
B) NO,
C) NO
D) N,

Na,SO, + BaCl, —— BaSO, +
2NaCl g8 MERIED
e = IETEOI R |

e Fmtar smai w faea it SiffFaes
A Ffw fewT™
e & 971 I e 8 |

A) ffeRTeH

B) g

C) ¥

D) HEASRATRS

= & gt 3 Hrem § Al
FETSIEATHIE TgaH T
I B & |

A) CaCO,

B) Ca(OH),

C) CaH,

D) Ca(HCO,),
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60.

61.

62.

63.

64.

solution does not
conduct electricity.

A) Sodium hydroxide
B) Calcium hydroxide
C) Glucose

D) Hydrochloric acid

pH of blood is
A) 5.6
B) 6.5
C) 74
D) 47

Our stomach produces

acid which helps in the digestion.
A) H,SO,

B) HNO,

C) H,PO,

D) HCI

Stinging hair of nettie leaves inject

A) Ethanoic acid
B) Methanoic acid
C) Propanoic acid
D) Butanoic acid

Baking soda is

A) Sodium carbonate

B) Sodium hydrogen carbonate
C) Sodium hydroxide

D) Sodium chloride
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causing burning pain.

60.

61.

62.

63.

64.

1 ot ferereht =1 guem

T HER |

A) ey teide
B) seHian geiae
C) g

D) tgiiiew ufre

wAH pH R
A) 5.6
B) 6.5
C) 7.4
D) 4.7

AT U2 TS I I~ @
2 U & R e w2 )

A) H,SO,
B) HNO,
C) H,PO,
D) HCI

FREFF T TR T SR W
STeT % T8 1 RO ST B

A) 3oTEE TRy
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65.

67.

68.

69.

70.

is used in the manufacture

of borax.

A) Washing soda

B) Baking soda

C) Sodium hydroxide
D) Sodium sulphate

Plaster Of Paris (POP) is
A) CaS0,.2H,0

B) CaSO,.H,0

C) CaSO0,.12H,0

D) CaSO,.%H,0

The ability of metals to be drawn in to
thin wires is called

A) Malleability
B) Ductility

C) Conductivity
D) Sonorous

is most malleable metal.

A) Au
B) Al
C) Fe
D) Zn

is non-metal but it is

lustrous.
A) Carbon
B) Chlorine
C) Bromine
D) lodine

does not react with cold

water.

A) Sodium

B) Calcium
C) Magnesium
D) Potassium
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65. aruad & Pmi & i N

66.

67.

68.

69.

70.

I e R |
A) =if¥m Hie
B) afdm e

C) wifewm tgiws
D) afesaw aehe

TR 3T Ui (POP) R |
A) CaS0,.2H,0

B) CaSO,.H,0

C) CaS0,.%2H,0

D) CaSO,.%H,0

Tl 3 yaeh arl # g H &ma
el A |

A) SETaELTad

B) wiemyA

C) yaresd

D) AYy/E=

T STy g R |

A) Au
B) Al
C) Fe
D) Zn

R g AR TSR R |

A) e
B) FARH
C) si=
D) A

32 i o v fdfsn @

AT |
A) wifeaw
B) shediH
C) Anfdam
D) drefRmm
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71. Manganese react with very dilute

HNO, to evolve gas.

A) H,
B) N,
C). 0,
D) NO,

72. The order of reactivity is
A) Al>Mg > Fe > 2Zn
B) Mg>Al>2Zn> Fe
C) Al>Mg>2Zn>Fe
D) Mg > Al > Fe >2Zn

73. Cinnabar is
A) HgO
B) CuO
C) HgS
D) Cu,S

74. Sulphide ores are converted in to
oxides by
A) Combination
B) Reduction
C) Calcination
D) Roasting

75. Fe, O, + 2Al —}2Fem + AlLO. .+ Heat.

23(s) (s)
This reaction is called

2~ 3(s)

A) Calcination .
B) Thermit reaction
C) Thermal reaction
D) Displacement

7.

wiga gt HNO, 3 wrer Frfist & wwa &
o fawRmdm g |

A) H,
B) N,
C) O,
D) NO,

72. wfafsr w1y gl

73.

74.

75.
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A) Al>Mg > Fe>2Zn
B) Mg > Al >2Zn > Fe

C) Al>Mg>2n>Fe
D) Mg > Al> Fe >2Zn

f=mam g1
A) HgO
B) CuO
C) HgS
D) Cu,S

TEPHISS TSI ! L
NFaTEEy A giEfd foma ST @ |
A) S

B)

C) &M

D) W

Fe,0,, + 2Al, —»2Fe, + AL,O, + Heat.

waRfFms_ wsaE |
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76.

13

78,

79,

80.

Silver articles become black after
some time when exposed to air. This
is because of coating.

A) Silver sulphate
B) Silver oxide

C) Silver sulphide
D) Silver sulphite

Bronze is an alloy of
A) Cu & Zn

B) Cu & Sn
C) Cu&Pb
D) Cu&Ti

is an alloy used for
welding electrical wires.

A) Bronze
B) Brass
C) Solder
D) Steel

is a major component of
CNG.

A) Methane
B) Ethane
C) Propane
D) Butane

For the hydrogenation of vegetable
oils is used as catalyst.

A) Pt
B) Ni
C) Pd
D) Ag

76.

77.

78.

79,

80.
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T F U 4 A & FS UG 908 TG 5
YT e BY ST & | §EERT RO
IR |

A) foee awhe

B) fire it

C) fie uewigs

D) frea aede

H

A) Cu & Zn
B) Cu & Sn
C) Cu&Pb
D) Cu&Ti

T g R

fersTett 3 i i e & fog
iy ag = SuA fRar ST € |

A) T
B) dtaet
C) firem
D) s&m

CNG &1 &7 95 2l
A) =
B) &9
C) it

D) =%7

FTEfe Al & TSROl & fog
I IONF & BT I v T |

A) Pt
B) Ni
C) Pd
D) Ag
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81.

82.

83.

84.

85.

Dehydration of ethanol gives
A) ethane

B) ethanoic acid

C) ethene

D) ether

solution of acstic acid in
water is called vinegar.

A) 5-8%
B) 8-9%
C) 4-6%
D) 6-9%

The melting point of pure ethanoic
acid is

A) 300 K

B) 298 K

C) 310K

D) 290 K

Esters react in the presence of acid
or base to give alcohol and carboxylic
acid is called

A) Esterification
B) Saphonification
C) Hydrolysis

D) Rancidity

Properties of elements are periodic
function of their

A) atomic mass
B) atomic number
C) atomic size

D) atomic nature
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82.

83.

84.

. 85.

o]

A) 5-8%
B) 8-9%
C) 4-6%
D) 6-9%

e s e F s R
A) 300 K
B) 298 K
C) 310K
D) 290 K

X ITehieial 3R TwEifadfaes Ty 39
& fore uftre an g i sufefy o wfafemn
war ¢ | @ HEd ¢ |

A) sRitftherya

B) awififheryH

C) Rgififtm

D) Hfafedh

ol o U IH
FEE |

A) 9] MR
B) 1Y SHATS
C) WRHTY] TR
D) WY e

& EfE
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86.

87.

88.

89.

00.

Modern periodic table has

periods.
A) 18
B) 8
C)7
D) 17

Metalloids is
A) Silicon

B) Carbon

C) Magnesium
D) Iron

M shell of chlorine contains
electrons.

A) 7
B) 6
C) 4
D) 5

Metal oxide + Acid — X + water, X is
A) Metal

B) Acid

C) Base

D) Salt

Hydronium ion Iis
A) H*

B) H,O*

C) OH,®

Q
D) OH
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86.

87.

88.

89.

90.

Iy arrad wwoft 7 rafimt
.4

A) 18

B) 8

C)7

D) 17

NEENTEH (UTg &) B
A) Tl

B) e

C) Mftam

D) e

TRAF W IAE
AT |

A) 7

B) 6

C) 4

D) 5

TR

T ATFATEE + ATE — X + UM,
X 2l

A) Hrg
B) a7t
C) ¥
D)

LEuceefeion 2l
A) H*

B) H,0*

C) OH2

0
D) OH
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91.

92.

pH of milk of magnesia is
A) 11

B) 10

C) 115

D) 10.5

The atmosphere of Venus is made up
of thick white and yellowish clouds of

A) H,SO,
B) HCl
C) HNO,

D) HSO,

93.

94.

95.

acid is present in Tomato.

A) Oxalic

B) Citric

C) Tartaric
D) Methanoic

Aqueous solution of sodium chloride
is called

A) Brine

B) Milk of magnesia
C) Washing soda
D) Baking soda

Bleaching powder is represented as
A) CaCIO

B) CaOClI

C) CaOCi,

D) Ca,0Cl,
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91.

92,

93.

94.

95.

Arf3ra % gy = pH et
A) 11

B) 10

C) 11.5

D) 10.5

05 1 FATE F 0
e 3R el IRl A =TT R |

A) H,SO,

B) HCI

C) HNO,

D) HSO,

_UeHRE @R |

LT 8]
A) Neriers
B) fafes

C) zeifen
D) AuHisH

S ESL RSN T o1 0 Ro11 K- S
Fed ¢

A) @
B) ¥ w1 qu

C) g |rst
D) afT e

ST Y8t
Tl 2l

A) CaClO
B) CaOCl

C) CaOCl,
D) Ca,0Cl,

E BRI
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96.

97.

98.

99,

100.

Recrystallisation of sodium carbonate
produces

A) Baking Soda

B) Washing Soda

C) Bleaching Powder
D) Gypsum

is used as plaster for
supporting fractured bones in the right
position.
A) CaSO,-10H,0
B) CaSO,2H,0
C) CaSO,''/,H,0
D) CaS0,

metal exist as liquid at
room temperature.

A) Bromine
B) Mercury
C) Lead
D) Zinc

is an allotrope of carbon
which is hardest in nature.

A) Diamond
B) Graphite
C) Silicon Carbide
D) Fullerene

Amphoteric oxide is
A) CuO

B) Na,O

C) K,0

D) ALO,
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96.

87.

98.

99,

100.

TifEem e F1 §: fSreeiert Iafea
E2G

A) =T gie

B) e 1 her

C) sefifenT uret

D) forem

! gl fRufa d wfea sfel
& Tmele % 7T et % w9 § ST
EZIESIGIES

A) CaSO, 10H,0

B) CaSO,2H,0

C) CaSO, "/,H,0

D) CaSO,

uTg FR F aaH W fafere
(o) FegddcgE? |

A) B

B) 7R (9m)

C) ©is

D) T (Sar)

T § G ST FIE I TS 8T
TR 7

A) TEEE

B) Tthe

C) faferem Frels

D) Feaiid
Il aTiaEse B

A) CuO
B) Na,O
C) K,0
D) Al0,
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101.

102.

103.

104,

PHYSICS

Image formed by a plane mirror is
always

A) Virtual and erect
B) Real and inverted
C) Virtual and inverted
D) Real and erect

The imaginary line passing through
the center of curvature and pole of a
spherical mirror is

A) Principal focus

B) Principal axis

C) Focal length

D) Parallel ray

A ray parallel to the principal axis after

reflection from a concave mirror will
pass through

A) Principal focus

B) Principal axis

C) Radius of curvature
D) Center of curvature

The size of the image formed by
a convex mirror when an object is
placed at infinity is

A) Point sized

B) Enlarged

C) Large

D) Same size

101.

Wi e

T FHao q9u1 g1 fAfifa ofy i
Bl &

A) amaret sk @

B) arafae 3R I&a
C) Tt 37X I
D) arafes 3K @er

102. T TR o ot ke g afk ga @

103.

104,

BIe ST Shieq e T &
A) 791 Hz-fog

B) wam g

C) hiehed Heis

D) SR fortoy

ST FUUT & TR & AIE @ N F
MR O TR0 A S et
A) YU Fx-Tg

B) 3um it

C) et B

D) asrel 1 g

S T &g W qar § W@ e @,
e v gry Fififa s @ e g &
A) fig =1 seR

B) @er gan

C) farmat

D) &M A1



105.

106.

107.

108.

109.

The type of mirror used by dentists 105, <a Ffiheaes 0 AT 3l o set Siedl
to see larger images of the teeth of ) A F T 3T Ry TRt 3991
patients is YRR &
A) Concave A) TarEt
B) Convex B) @A
C) Plane C) gHqw
D) Plano-convex D) GHaea
The ratio of sine of angle of incidence | 106. My wrean gm & frg rvar Hivr &
to the sine of angle of refraction is a T ¥ JTTAA Thi0T & ST 1 7AW R
constant for given pair of media. This 2 | 39 Tagia = e San @
law is known as .
A) Hema 1 fom /e
A) Maulas law ]
B) Snell's law B) Tt 3 frgra /e
C) Stefan's law C) & =1 fram /R
D) Pascal's law D) ureahel 1 Torgia /e
Which among the following has a 107. Fr=frfaa o @ feraem e vad
larger refractive index ? q21e ?
A) ice A) =% /fm
B) Carbon B) FreA
C) Diamond C) &
D) Ruby D) Wiforh
The effective diameter of the circular 108. TFH AR o ﬁmm%m
outline of a spherical lens is called ST Y FHET ST 2
A) Aperture A) fsg
B) Optic center B) gfR ¥7
C) Pole C) g
D) Principal focus D) wuH F3fg
The focal length of a plane mirror is 109. TUee guur dht Rl @18 Bl &
A) Zero © A) I
B) One B) T
~C) Infinity C) 3t
D) Two D) &
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110.

g Bl

112,

113.

114,

Sl unit of power of a lens is
A) Metre

B) Dioptre

C) Centimeter

D) Steradian

Retina of the eye is a

A) Light sensitive screen -
B) Lens

C) Object

D) Aperture

The human eye can focus objects at
different distances by adjusting the
focal length of the eye lens. This is
called

A) Presbyopia

B) Accommodation
C) Near sightedness
D) Far sightedness

The change in focal length of an eye
lens Is caused by the action of the
A) Pupil

B) Retina

C) Cilliary muscles

D) lIris

The power of accommodation of the
eye usually decreases with ageing. This
condition is called as

A) Myopia

B) Presbyopia
C) Hypermetropia
D) Astigmatism
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110.

111,

112.

118.

114.

& ! Vifr ) 7h. o7, T 2
A) Hiex

B) feafex

C) dferdter

D) wRufewm

3Q &1 AffTe (Fve) B
A) YEHIIT F HaeT I
B) &

C) a9
D) feg

A’TE & oI i BIhd TS ) gEA
e fafi gt i agell W A witw
hizd X ehd] 8 | T8 Faa &

A) 0 R 3R 3

B) gfem

C) fiee gfRe 3y

D) R4

tha o o0 ) et wamg o e s
e e ?

A) gaett

B) 3iféme

C) fuferadt niwufirat
D) ¥=

3G @A & WY ATE & gl H wfwy w9
& o7t 8 1 39 el Y T s

A) Pz g gy

B) su R gfe <y

C) did gfe ey

D) 3fe auymy
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115.

116.

117.

118.

Among the following colours which
bends the most when white light
undergoes dispersion is

A) Indigo
B) Red
C) Orange
D) Yellow

The twinkling of star is due to

A) Atmospheric refraction
B) Atmospheric diffraction
C) Atmospheric dispersion

D) Scattering of light by the particles in
the atmosphere

The scattering of light by the colloidal
particles is

A) Thermal effect
B) Balwin effect

C) Raman effect
D) Tyndall effect

The blue colour of the sky and the
redding of sun at sunrise and sunset

is caused due to

A) Scattering of light
B) Reflection

C) Thermal effect

D) Atmospheric diffraction
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115.

117.

118.

W& Tihe YR 1 TR grar &, @
o T T Ged el Fehan 8 ¢

A) &

B) @&

C) =t

C) arweey ufRv

D) NS Il oh g WehreT i frehiviA
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A) ovie INE

B) SerE INE

C) T T

D) Y& WHE
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% THY g % T T T FHRO BT ©

A) S < faehiota
B) YEdH
C) oHa g9
D) arguset faad
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119. One ampere current is

A) 1coulomb
1second

B) 1 coulomb x 1 second

2 coulomb
C)
1second?®

D) 1 coulomb x 1 second?
120. Potential difference between two
points is equal to

A) Work done
Charge

B) Charge x Work done

Charge
Work done

D) (Charge)?
Work done

121. Sl unit of potential difference is
A) Ampere
B) Volt
C) Coulomb
D) Joule

122. 1 ohm is equal to
A) lampere
1volt
B) 1 volt x 1 ampere

C) 1 volt
1ampere

D) 1 volt x (1 ampere)?

118,

120.

121

122.
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Ue e foge oo @
A) 1 Fera
18%s
B) 1 3o x 1 8%
c) 2T
18582
D) 1 Fema x 1 Yehs?

2 gl & it 3 fvraiee 35 e 2

p) Foean mn =
TR

B) WK x & way sk

TR
©) R ]

D) _ (™m)?
o T FE

fevareR i wg. o1, T R
A) TR
B) dive

C) Fera
D) i@

1 3 & TR 2
A) 1 TfiR
19

B) 149ee x 1 T

c) 1dke_
1 TR

D) 1 diee x (1 T2
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123.

124.

125.

126.

I the length of the metallic wire is doubled
then the resistance of the wire

A) reduces by half
B) doubles

C) reduces by %
D) quadruples

Sl unit of resistivity is
Al Qm
C) Q

B) Q' m™
D) Qm™

When the resistors are connected in
series then

A) Current through each resistor is
same as the total current in the
circuit

B) Voltage across each resistor is same
as the total voltage in the circuit

C) The sum of the current passing
through each resistor is same as the
total current in the circuit

D) The effective resistance is less
than the smallest of the individual
resistance

Equivalent resistance (R)) of the parallel

combination when two resistors R, and
R, are connected in parallel is equal to
R, +R
R = 1 2
A= R,
H1H2
I:1‘1 = F‘z
H-‘ et HE
R, +R,
R +R,

B) R =

C) R,=

D) R,=
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124.

125.

126.

7f uTg ¥ TR i Feg QN FA S, A
ar 1 wfediy

A) 38 @ FY T

B) AT ¥ 8

C) T =T ¥ F9 8T ¢

D) =T Bell ®

TertereRaT <1 . 3T, 1S ©

A) Qm B) Q' m
C) Q D) Qm™

v yRgH! # FEen # el 9 8,
a9

A) S iR 2 ferge o uftee & farpa
YT 3 GHH Sl o

B) W Niius & [erAaTe diced qRaY
¥ Tl dledw & GUH Bl &

C) v fadius | Terareh fergaem
&1 2t 9Rey % Fo faga o & e
Bt 2

D) Ted B2 dafaen wfety & wreht witdiy
4 g &

e <) WAy R, 3R R, %! THI SgT
STt B, A WRIG GESH| 1 qHged
s (R) 3
R, +R,
RR,
RR,
R, -R;
R —R,
R, + R,
RR,
R, +R,

A) R =

B) R, =

C)R =

D) R, =
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127,

128.

129.

130.

131.

According to Joule’s law of heating, the
heat generated due to electric current
is given by

A) H = I?Rt B) H = IRt
C) H = IR D) H=IR?
1 watt of power is equal to
A) IW=1Vx1A  B) IWa
1\
W v
C) 1W"E D) W=7

The commercial unit of electrical
energy is
A) Kilowatt hour
Kilowatt
B)

hour
C) Kilowatt/hour?

D) Kilowatt (hour)?

The resistance of a wire is

A) directly proportional to its area of
cross section

B) inversely proportional to its area of
cross section

C) independent of its area of cross
section

D) proportional to square of its area of
cross section

Conductors of electric heating devices
such as bread toasters and electric
irons are made by alloy rather than pure
metals because

A) Alloys have low resistivity

B) Alloys have high resistivity

C) Itis not dependent on resistivity
D) None of the above

Page No. 33

127, it & 3571 o gl o o7gan g oo %
R [l Fmm FERT < A B

A) H = I?Rt B) H = IRt
C) H= IR D) H=IR?
128. 1 9 forega wifeRs o FUen ®
A) WW=1Vx1A B) 1W=%
_V N
C) W= % D) 1W =7
129. faeqa St i =T 3 @
A) frerrame ot
B)
queT
C) fretene /aver
D) feratare (Tvar)?
130. R i wfaeean
A) 6 FTINEI FE o GBS o GATII
el &
B) 3T oY T % SHA%E H ShITgaTdt
Bt @ |

C) 3% Y FIe % HI%d ¥ Wl Bl
g

D) I8 FTWEY FE * HIGA & a1 @
rgufaeh Bl &

S 2 3R forgga Eht 99 R mff &
IYHT % HaTeh Y@ UG o aerry iy
HTq §I 1Y STd © i

A) Tas argest # wfekiasar 9 ¥t 2
B) Thy wrgatt # witaraerar it gt @
C) ¥& witkigarar W fFsft 7 a2

D) 3wfwa & & S &

131.
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132.

133.

134.

A current through a horizontal power
line flows in East to West direction. The
direction of magnetic field at a point
directly below the power line is

A) North to South
B) South to North
C) West to East
D) East to West

The magnetic field due to current

carrying circular coil having n turns is

A) n? times as large as that produced
by a single turn

B) ntimes as large as that produced by
a single turmn

C) % times as large as that produced
by a single turn

D) will be same as that produced by a
single turn

The strong magnetic field produced
insidaasolenoidcanbausedtomagmﬁge
a piece of magnetic material like soft
iron when placed inside the coil. The
magnet so formed is called as

A) Electromagnet
B) Diamagnet
C) Paramagnet

D) Permanent magnet
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B) & ¥ 3w

C) ufrm & g

D) & & ufem

n gaEaTe &gy gm0 g8 Sear

TMATRR FEE 3 FHH0 Yorehig & aren &

A) & &1 o 5t 9 °§ e I/l g7
Jeqied

B) n 91 & 9 ¥ 9t 7= ¥ GHd 91 51
Ieanfea

C) %m%mﬁaﬁwﬁmmﬂm
Jaartea

D) Ghat aR) g1 IATfed % G0

URATTeTE & e SeuTied Weteld geehid
& 1 3T e B ot W@ T g
|t SR T SR 3 g I gAfehd H
& fore foma s v @ | ST gE S €,
38 HET ST R

A) ferga 9o
B) wfigas
C) Iggs
D) TIeft Yo
1 PECE




-

135.

136.

137.

138.

The magnetic field inside a long straight
solenoid carrying current

A) is zero

B) decreases as we move towards its
end

C) increases as we move towards its
end

D) is the same at all points

According to Fieming’s left hand rule,
the fore finger is pointed towards the
direction of

A) Electric current

B) Magnetic field

C) Force exerted

D) Motion of the conductor

The device that detects the presence
of a current in a circuit is

A) Voltmeter

B) Galvanometer
C) Resistor

D) Diode

The basic phenomenon of working of
an electric generator is

A) Electromagnetic induction
B) Hall effect

C) Ferroelectric effect

D) Photoelectric effect
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139.

140.

141.

142.

A rectangular coil of copper wire is
rotated in a magnetic field. The direction
of the induced current changes once in
each

A) 2 revolutions
B) 1 revolution

C) half revolution
D) }{1'" revolution

Magnetic field lines are shown closer
together where the magnetic field is

A) Stronger
B) Weak
C) Constant

D) None of the above

The magnetic field of a solenoid carrying
a current is similar to that of a

A) Bar magnet
B) Resistor
C) Electric motor

D) Iron core

The AC supply to the houses is of
220 V, 50 Hz. One of the wires in this
supply is with red insulation called as

A) Live wire

B) Neutral wire

C) Earth wire

D) None of the above
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143.

144,

145.

146.

The phenomenon of Electro-magnetic
induction is

A) Process of charging a body

B) Process of generating magnetic
field due to a current passing
through a coil

C) Inducing electric current in a coil
due to relative motion between a
magnet and the coil

D) The process of rotating a coil of an
electric motor '

At the time of short circuit, the current
in the circuit

A) Reduces substantially
B) Does not change
C) Increases heavily

D) Vary continuously

The device used for producing electric
current is called as

A) Generator
B) Galvanometer
C) Ammeter

D) Motor

The safety device used for protecting
the circuits from short circuiting is

A) Resistor
B) Fuse

C) Motor
D) Generator
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147.

148.

149.

150.

The direction of the electric current is
taken

A) Same as the direction of flow of
electrons

B) Opposite to the direction of flow of
electrons

C) Perpendicular to the direction of flow
of electrons

D) There is no direction for the current
due to flow of electrons

A piece of wire of resistance R is cutinto
five equal parts. These parts are then
connected in parallel. If the equivalent
resistance of this combination is R,

the ratio %’ is

A Jos
B) %

C) 5
D) 25

Which of the following is not an example
of conventional energy source ?

A) Wood B) Gobar gas
C) Nuclear energy D) Coal

Which among the following is a
non-conventional source of energy ?

A) Fossil fuel

B) Solar energy

C) Hydro power plant
D) Wind energy
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